50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Sixth Semester B.E. Degree Examination, June/July 2013
Compiler Design
3 hrs. Max. Marks:100

Note: Answer FIVE full questions, selecting
at least TWO questions from each part.

PART - A
Explain the different phases of compiler, with a block diagram. (10 Marks)
How is input buffering of lexical analyzer implemented? S (04 Marks)

Construct fransition diagrams for the following:
i) Relop %f 4

ii) Identifier

iii) Unsigned numﬁex

(06 Marks)

Explain any two error-recovery strategies in parser. (04 Marks)
Consider the following grammar:

E—I1|E+E|E*E| (E) '

I[—>a|b|lajIb|I0|I1

i) Check whether the grammar is ambiguous or not for the given input string w =a * b + a.

ii) If ambiguous construct an equivalent unambiguous grammar. (06 Marks)
Construct LL(1) parsing table fcu; the grammiar glven below:

E->Ex*T|T .

T—id+T|id o (10 Marks)

Define bottom-up pa;fsihg. Check the acceptance of the input string “bbb*b++” for the

grammar: E —» EE + | EE« | b (04 Marks)
Explain diffgrent‘*ébtions in shift-reduce parser with an example.-Also describe the conflicts

during shift-reduce parsmg - (06 Marks)
Construci‘ Sf:R(l) parsing table for the following grammar:

(10 Marks
.\z;mfk"j;erte an algorithm for constructing LR(1) items. " (05 Marks)
. Construct LALR(1) parsing table for the following grammar:
S—>CC
C > cCld (10 Marks)
Briefly explain Yacc generator. (05 Marks)
PART - B
Describe S-attributed and L-attributed definitions. (04 Marks)
Define syntax-directed definition. Write the syntax-directed definition for simple desk
calculator and give annotated parse tree for the expression (7 —2) * (8§ — 1)n. (10 Marks)
Explain any two syntax-directed translation schemes. (06 Marks)
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Briefly explain different types of intermediate codes, with the expression,

a=b*-c+bx*x-c. (12 Marks)
Construct a DAG for the expression given below:
(x+y)—((x+y)*x=-y)+{(x+y)*(x=-y)) (04 Marks)

Give SDTS (Syntax-Directed Translation scheme) for switch-statement. (04 Marks)

Explain the concept of heap management. Give the memory hierarchy of a computer,

(08 Marks)

What is Garbage collector? Design goals for garbage collector. ; (06 Marks)

Briefly explain activation records. (06 Marks)

What are basic blocks? Write an algorithm for partitioning into baslc blocks (06 Marks)
Explain code generation algorithm. Generate the code for the foildwmg expression:

w=(a-b)y+(a-c)+(a—c) PRie (10 Marks)

Briefly explain GetReg function. AN (04 Marks)

* %k ok % %k
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